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Cuadro 6 (continuación 2)/Table 6 (continued 2)
Colombia: tablas abreviadas de mortalidada

 Colombia: abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.090 0.085  100 000  8 489  93 859 0.904 b 5 900 572 59.0
1 4 0.008 0.033  91 511  3 055  358 125 0.974 c 5 806 713 63.5
5 5 0.002 0.010  88 456   865  440 117 0.992 5 448 587 61.6

10 5 0.001 0.006  87 591   522  436 650 0.992 5 008 470 57.2
15 5 0.002 0.010  87 069   858  433 200 0.987 4 571 820 52.5
20 5 0.003 0.017  86 211  1 424  427 493 0.982 4 138 620 48.0
25 5 0.004 0.019  84 786  1 595  419 945 0.980 3 711 127 43.8
30 5 0.004 0.020  83 192  1 704  411 699 0.978 3 291 182 39.6
35 5 0.005 0.024  81 488  1 970  402 514 0.974 2 879 483 35.3
40 5 0.006 0.028  79 518  2 260  391 939 0.966 2 476 969 31.1
45 5 0.008 0.040  77 258  3 094  378 555 0.952 2 085 030 27.0
50 5 0.011 0.055  74 164  4 113  360 538 0.929 1 706 475 23.0
55 5 0.018 0.088  70 051  6 137  334 914 0.894 1 345 937 19.2
60 5 0.027 0.126  63 914  8 043  299 464 0.842 1 011 024 15.8
65 5 0.043 0.194  55 871  10 861  252 204 0.772  711 560 12.7
70 5 0.062 0.270  45 010  12 146  194 686 0.678  459 356 10.2
75 5 0.098 0.393  32 864  12 929  131 997 0.574  264 670 8.1
80 5 0.127 0.479  19 935  9 542  75 819 0.486  132 673 6.7
85 5 0.168 0.580  10 393  6 033  36 882 0.392  56 854 5.5
90 5 0.215 0.673  4 360  2 936  14 459 0.307  19 972 4.6
95 5 0.265 0.753  1 424  1 071  4 440 0.195 d  5 513 3.9

100 ω 0.328 1.000   352   352  1 073  1 073 3.0
Mujeres/Females

0 1 0.074 0.070  100 000  6 998  94 789 0.918 b 6 286 035 62.9
1 4 0.008 0.033  93 002  3 038  364 148 0.976 c 6 191 246 66.6
5 5 0.002 0.009  89 964   802  447 815 0.993 5 827 099 64.8

10 5 0.001 0.005  89 162   431  444 731 0.994 5 379 284 60.3
15 5 0.002 0.008  88 731   676  441 962 0.991 4 934 553 55.6
20 5 0.002 0.010  88 054   866  438 107 0.989 4 492 591 51.0
25 5 0.002 0.011  87 189   997  433 449 0.987 4 054 485 46.5
30 5 0.003 0.015  86 191  1 271  427 778 0.983 3 621 035 42.0
35 5 0.004 0.019  84 920  1 624  420 538 0.978 3 193 258 37.6
40 5 0.005 0.025  83 295  2 057  411 336 0.972 2 772 719 33.3
45 5 0.006 0.031  81 239  2 554  399 810 0.962 2 361 384 29.1
50 5 0.009 0.045  78 685  3 565  384 514 0.943 1 961 574 24.9
55 5 0.014 0.068  75 120  5 140  362 752 0.917 1 577 060 21.0
60 5 0.021 0.099  69 981  6 905  332 641 0.876 1 214 308 17.4
65 5 0.033 0.153  63 076  9 639  291 282 0.813  881 666 14.0
70 5 0.051 0.226  53 437  12 101  236 934 0.719  590 384 11.0
75 5 0.085 0.352  41 336  14 565  170 271 0.605  353 450 8.6
80 5 0.121 0.461  26 772  12 337  103 017 0.500  183 180 6.8
85 5 0.165 0.573  14 435  8 270  51 501 0.399  80 163 5.6
90 5 0.210 0.666  6 165  4 105  20 565 0.314  28 661 4.6
95 5 0.260 0.745  2 061  1 536  6 464 0.202 d  8 096 3.9

100 ω 0.322 1.000   525   525  1 632  1 632 3.1

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


